EXIST.
OFFICE

\.—_—: = = = =

CMU WALL, TYP.

PARTIAL FLOOR PLAN

SCALE: 1/8"=1"-0"

PLACE 15# FELT BETWEEN
SLAB ON GRADE & EXIST.

PARTIAL FLOOR PLAN

SCALE: 1/8%=1'-0"

\—— SOFFIT-EXIST

SLAB

S

(o'

)

~H
=
<z |z S
=)

=r|=g| D

1 SRS
m-_.'% ] P
)
o o
B | ™
o | m| @2
L [l
ARl ZN I
BgRzs=
| s e
oy ca [ e
ol | <tk <€l
] 6 [ed €3] 0] Lan
73] E-«Q@{D
4 B

<. 0
42

[

o3 L
il

A

\ e,
\
m / 400xc 14 800DT14 MITER AND FIELD WELD,
ST | TYP. T & B TRACK
. #10 SCREWS @6"0¢c, TYP.
5, ! CORNER COL. | X 7 S
B?LOW SEE N ;\ <
B 3/5-2 LN A,
B00XC18@16"0¢ #10 SCREWS, $h\»-6OODT14 e \L
EF. @ EA.  / '
STUD ——— #10 SCREWS @12"0c | 600XC18
- BOX BM
E.S., STAGG.
.
INSULATION-SEE  SPECS. N 600XC18@1670c
\
T SOLD BLKG SECTION - AT _CORNER
- 7“2\ TYPICAL BOX HEADER BEAM DETAIL
s—1| s-1/ SCALE: 1-1/2"=1-0"
&
o 2"x6"x6” LG. BLKG
SERCI @ EA. AB.
Q=22 SAW CUT & REMOVE
’_gma: — B00DT14 w/ 1/2" x127 LIP OF EXISTG SLAB
35S LG. AB. @32%0c
0. —
S23% NON—SHRINK
'__.
Y252 4-1/2" CONC. w/ DRILL & EMBED #4x1'—8" LG o EMTITIONS
SH = #3@12"0c EW. DOWELS 4" INTO EPOXY
L 9> | FILLED HOLES ©@16”0c ROUGHEN SURFACE AND APPLY EPOXY BONDING AGENT
Ve
‘!\/ 1= / [—_‘ o - o
‘\ L B . ] R - ) AJ_E".,II - e . - _ —
) \\_Lj 4‘  P %g; p— o AQ& S = f% Mf%f: ) S _w_f__,_ﬂm_mw)—wi
2-#4 CONT. ® Hﬁ;./(’ \. . I . . |
AROUND Aﬁ.- ' AP : i /i——»»————m ———«~+~—~~-A——ﬂv7.m*———mf—‘**““_'”“_—ﬁ**—1
EDG ES \"\.\//’\‘7\“\\:;\'t\\'\.\;\'.\‘\:\//’\\“\\;\'t\\ o / - E
e EXTEND EXIST REBAR TO 4. / EXISTG S.0.G., |
EXISTING 67 ' 1 ' CONC. AND BEND AS e / :
CMU WALL OCCURS |
; l 6 MIL MOISTURE BARRIER —— REMOVE EXISTING COARSE ROCK, COMPACT
/\ THE SOIL BELOW AND PLACE 4" 3B FINE
W, SECTION  CUSHION FiLL

S+

g—1/ SCALE: 1"=1'-0"

I\h%s work was prepared by me MATER/ALS TEST/NG & F\)ESEARCH BRANCH

FISCAL | SHEET | TOTAL
DIST. NO. | STATE PROJ. NO. YEAR NO. | SHEETS

HAWALI HAW. { HWY—0-02-00M 2000 5 22

GENERAL _ NOTES

1. ALL WORK SHALL CONFORM TO THE UNIFORM BUILDING CODE AS
ADOPTED AND/OR AMENDED BY THE CITY AND COUNTY OF
HONOLULU.

2. CONTRACTOR SHALL VERIFY ALL DIMENSIONS AND CONDITIONS

PRIOR TO START OF JOB AND PROVIDE WRITTEN NOTIFICATION OF ANY
DISCREPANCY TO THE ARCHITECT FOR FURTHER DIRECTION.

3. ALL CONCRETE WORK SHALL CONFORM TO ACI 318-95. ALL
CONCRETE SHALL ATTAIN A MINIMUM COMPRESSIVE STRENGTH OF
3,000 PSI AT 28 DAYS. MAXIMUM AGGREGATE SIZE SHALL BE 3/4
INCH WITH A MAXIMUM CONCRETE SLUMP OF FOUR (4) INCHES.

4. ALL REINFORCING STEEL SHALL BE DEFORMED BARS CONFORMING
TO ASTM A-615 GRADE 60.

S. ANCHOR BOLTS SHALL CONFORM TO ASTM A-307, GALVANIZED.

0. EXPANSION BOLTS SHALL CONFORM TO AISI C-12L14, GALVANIZED.

7. CEMEMTITIOUS FILL SHALL BE NON-SHRINK AND SHALL ATTAIN A

6000psi MINIMUM 28 DAY COMPRESSIVE STRENGTH.  APPLICATION SHALL
BE IN STRICT COMPLIANCE WITH MANUFACTURER’'S RECOMMENDATION.

8. ALL LUMBER SHALL BE TERMITE AND ROT TREATED DOUGLAS FIR
CONFORMING WITH THE STANDARD GRADING AND DRESSING
RULES OF THE WEST COAST LUMBER INSPECTION BUREAU.
LUMBER GRADE SHALL BE NO. 2 OR BETTER GRADE.

9. LIGHT GAGE STEEL NOTES:
a. THE CONSTRUCTION AND DESIGNATIONS OF ALL LIGHT GAGE STEEL
STRUCTURE SHALL CONFORM TO "SPECIFICATIONS FOR THE DESIGN
OF LIGHT GAGE COLD FORMED STEEL STRUCTURAL MEMBERS™ OF
THE LATEST EDITION OF AlSI.

b. ALL COLD-FORMED STEEL SHALL BE GALVANIZED AND CONFORM WITH
ASTM A446. GALVANIZED COATING SHALL MEET THE REQUIREMENTS
OF ASTM 525 AND SHALL HAVE A MINIMUM G—90 COATING.

c. EXCEPT AS OTHERWISE NOTED; TRACKS, CLIPS, WEB STIFFENERS,
BLOCKINGS, AND OTHER ACCESSORIES SHALL BE PROVIDED BY
THE MANUFACTURER FOR A COMPLETE AND PROPER INSTALLATION
ENABLING THE STRUCTURE TO RESIST LOADS INDICATED IN THE
GENERAL NOTES.

d.  UNLESS INDICATED ON THE DRAWINGS, FASTENING OF COMPONENTS
SHALL BE WITH SELF—DRILLING SCREWS OR WELDS OF SUFFICIENT
SIZE AND NUMBER TO PROVIDE SHEAR AND TENSION CAPACITIES
FQUAL TO THAT OF THE CONNECTING MEMBERS.

e. SCREWS SHALL HAVE A PROTECTIVE COATING EQUIVALENT TO CADMIUM
PLATING (ASTM A 165 TYPE NS) FOR USE IN EXTERIOR ASSEMBLIES.

f.  WELDS SHALL CONFORM TO AWS D1.1, AWS D1.3, AND AISI MANUAL
SECTION 4.2, AND SHALL BE PERFORMED BY A LICENSED WELDER CERTIFIED
TO PERFORM WELDING FOR LIGHT GAGE METAL STRUCTURES.

g. EFFECTVE PROPERTIES FOR 12 THROUGH 16 GAGE SECTIONS SHALL
COMPLY WITH Fy = 30ksi; 18 TO 20 GAGE SECTIONS SHALL COMPLY

WITH Fy = 33ksi.
10. DESIGN DATA:

SEISMIC ZONE 2A

WIND PRESSURE:
WIND SPEED 80 MPH
EXPOSURE C
IMPORTANCE FACTOR 1.0

SOIL BEARING PRESSURE 2,000 PSF
S—1

STATE OF HAWALl
DEPARTMENT OF TRANSPORTATION
HIGHWAYS DIVISION

FLOOR PLANS, SECTIONS, AND
GENERAL NOTES

BUILDING RENOVATION — MISCELIANEOUS

q@‘@ e
gf} LICENSED N
3 [/ PROFESSIONAL

| ENGINEER

ok, under my

supenvision | Project No. HWY—0—02—00M

X

PR
R Y R
W

AW ASSOCIATES, INS! Scale: AS SHOWN Date:  APRIL, 2000

Structural Engineers

SHEET No. |5 OF 22 SHEETS

1S




DATE

4/30/00

I

LLEE

BY

SURVEY PLOTTED BY

DRAWN BY
TRACED

L. KOGA
L. KOGA
J. WONG

QUANTITIES BY
CHECKED BY

ORIGINAL

PLAN
NOTE BOOK[DESIGNED BY

No.

511 5—2/ SCALE: 1"=1-0"

NON-SHRINK CEMENTIHOUS

FILL TOPPING

ROUGHEN SURFACI7

REMOVE EXISTING SLAB
AS RECOMMENDED BY
TOPPING MANUFACTURER

s R
/ | /
EXISTING S

S.0.6. ——r!

Lu___/\—msme FOOTING

SECTION

s_11 5.2/ SCALE: 1"=1"-0"

7“7\ WALL ELEVATION

S—-1

S-2

SCALE: 1/27=1'-0"

o N N N
V\ | %/\ /\! F?A [\((\L—EXISTG 6” N
RO > X ¢ ) <X CMU WALL
= *® b3 N >
2 N - (e EXISTG 8" > )
4 \;21_—— EXISTG 8”7 CMU : AN N EXISTG 87 CMU N CMU WALL N A ééqogc%gs
S WALL Iy SO Al O 4 K é 2-5/8" 1P
/\>$ T ‘. " ol ”2 EXP. BOLTS BLKG
N s O\ ——5/8"8 EXP. BOLTS — o g ‘
= K{){ = u%%u ¥ s % 3/167x4” #12x1-1/2 WOOD
- % sﬁk/\J < | ot _%? P !’ﬁ /BENT T 2 SCREW
E@% o 3/16"x4" BENT
T 600sUT4 g e L] 1/2” oM.B. w/ ! /75 &
. NUT & WASHER
26 w/ 1/2°9 BAL OF (WELD CONNECTION N
EXP. BOLTOZ4 oc 1/2° M.B. w/ DET. SEE {1 BOX HEADER OPTIONAL)
N NUT & WASHER B.S. ST BEAM éé’;é’é\k ~1/2 WOOD
SAF’,%LC?NESNNEC“ON REMOVE FIN OF
FLANGE @ BLKG
(TYP.)
AT STUD AT BOX BM AT STUD AT BOX BM
SCALE: 1"=1"-0" Sen ] 3_2‘ SCALE: 17"=1"-0" S—11] 5-2/ SCALE: 1-1/2"=1"-0"
52
i i W . . A i . N « DO
\ 2 RN S
6000714 #12 SCREW B0X HEADER f—T—
-@__5;7\,__\ / /_ T&B E.S. f BEAM 21520
‘I ; T \:‘2 ,f/ . 4 o5 + & S 1 — ! - i . ’ 4 < L 4 4 7 \i:\/; ]
I ] 1 ¥ N \(,.
NI
T i>>=
ROUGHEN TOP SURFACE OF i ; E #12ISCREWIO 5
—1 /9" " \ / EA. | FLANGE ES
1/2°0 EXP. BOLTS @320 EXISTING S.0.6. AND APPLY N2 \ / %
EPOXY BONDING AGENT, TYP. ) N ( : Qgi
NEW TOPPING- EE"QSGG- "LAT N : ; L / 216 w172
. . \\
CEMEMTITIOUS FiLL il \< = 3 < EXp. B0LT @
| \\ ) \ 531 ‘
BUILT—UP i g { S = ) 2
= CORNER O : . >,
3" MIN. A = COL. | | \ §
) - - - - - - - | v X ) e
| f/ \ 600XC18 ] / \ // \ S
EXIST. S.0.6 @16" = / \ e EXISTING
! P 4/ :
| | 17 @22 et SEEN X S o (S IS .>:>§ CMU- WALL
. I S R
600DT14 TRACK

¥

#12 SELF TAPPING
SCREWS @16"0¢ E

AS REQ'D)

6005018
E.E.

PLAN=SECTION

Voo | 5.2/ SCALE: 1-1/2"=1"-0"

5/8" DENSE GLASS

BOARD

EFS DRYVIT ON

A.

FLANGE TYP. (STAGGER

Ql}”

(3

é“‘ S ,2 fh .
I =27 '
3 .'<_»4,4' 4 _.
1/2"6 x12"
LG. AB.
\ "1

775\ SECTION

FISCAL | SHEET | TOTAL
DIST. NO. | STATE PROJ. NO. VEAR NO. | SHEETS
HAWAII HAW. | HWY-0-02-00M 2000 16 295
r\j
A
S y

~—BUILT-UP COL.

5-2 | 5—9/ SCALE: 1-1/2"=1'-0"

STO

This work wos prepared by me
dr-under my, supervision{

o F
g
A

RS T LT
Yoot e

1 /47 7
SLOPE ]
out

—~

7 7
/|

778\ WALL DETAIL

§-9/] SCALE: 3"=1"-0"

N INSULATION
/ .
= 5/8" GYPSUM
~I BOARD
| & METAL STUD
T |
,. \ -’.

STATE OF HAWAI

DEPARTMENT OF TRANSPORTATION

HIGHWAYS DIVISION

SECTIONS AND DETAILS

BUILDING RENOVATION — MISCELIANEQUS

MATERIALS TESTING & RESEARCH BRANCH

i
%

NTW L ASSOCIATES, INC.
Structural Engineers

Project No. HWY-0-07-00M

Scale: AS SHOWN Date: APRIL, 2000

SHEET No. |G OF 22 SHEETS

IS}




	HWY-O-02-00M_015.TIF
	HWY-O-02-00M_016.TIF

